KUADERA

PAT-PENDING

Maniglia con serratura - Manilla con cerradura - Griff mit Schloss
Handle with lock - Poignée avec serrure - Kruk met slot

TKKZO0IDM10600
10_2012

Istruzioni di Montaggio - Instrucciones de montaje - Montageanleitung - Assembling Instructions - Instructions de Montage - Montagehandleiding

1050

Hm=

2

90

et \w e

55

100

—=s

1050

N\

Hm

70
55

100

1050
59
70
85

Hm

1050

Hm

-

NN

—

75

025

75

T g

[$2]

S

e[ @® @

0

90
0

22

22

7

83.5
57.5

o]

80

80

73

Sp= Spessore pannello min. 35 mm - max 50 mm.
Hm= Altezza posizione maniglia (mm).

Sp= Espesor puerta min. 35 mm - méax 50 mm.
Hm= Altura posicion manilla (mm).

Sp= Tiirblattstarke min. 35 mm - max 50 mm
Hm= Hohe der Positionierung des Griffs (mm) .

Sp= Panel thickness min. 35 mm - max 50 mm.
Hm = Handle’s position in height (mm).

Sp= Epaisseur vantail min. 35 mm - max 50 mm.
Hm= Position de I'hauteur de la poignée (mm).

Sp= Deurdikte min. 35 mm - max 50 mm.
Hm= Plaats van de greep (mm).

KRONA KOBLEN




TKKZ0IDM10600

KUADRA
Maniglia con serratura - Manilla con cerradura - Griff mit Schloss
Handle with lock - Poignée avec serrure - Kruk met slot

PAT-PENDING Istruzioni di Montaggio - Instrucciones de montaje - Montageanleitung - Assembling Instructions - Instructions de Montage - Montagehandleiding

KRONA KOBLEN

*Effettuare gli scassi sul pannello come indicato nei disegni tecnici.

*Realizar los mecanizados en el panel segtn indicado en los dibujos técnicos.
*Frasungen am Tiirblatt vornehmen It. Angaben auf den technischen Zeichnungen.
*Make millings on the door leaf as per indications on the technical drawings.
*Effectuer les fraisages sur le panneau comme indiqué sur les dessins techniques.
*Frees een opening in de deur volgens de technische tekeningen.

N__—’

*Inserire il braccetto di rinvio (A) nel gruppo gancio (B) orientando la parte piana
del braccetto dal lato della maniglia con serratura.

ATTENZIONE: per spessore porta >44 mm orientare la parte piana del
braccetto (A) dal lato della maniglia senza serratura.

*Insertar el piston de muelle (A) en el alojamiento (B) que se encuentra en la
parte posterior de la caja del mecanismo.

IMPORTANTE: para espesor panel >44 mm, orientar la parte plana del piston
(A) hacia el lado de la manilla sin cerradura.

*Verbindungselement (A) in den in den Einhdngungsmechanismus (B) einfiigen
in dem der flache Teil des Arms so orientiert werden muss, dass er sich auf der
Seite des Griffs mit Schloss befindet.

VORSICHT: Bei Tiirblattstarke > 44 mm den flachen Teil des Arms (A) an der
Seite des Griffs ohne Schloss orientieren

*Put the catch bolt (A) into the fitting mechanism (B) by orienting the flat part of
the arm so to be on the side where the handle with the lock is placed.
CAUTION: For door leaf thickness > 44 mm align the flat part of the arm (A) to
the side of the handle without lock.

*Insérer le bras de rappel (A) dans le bloc d’accrochage (B) en orientant la
partie plate du bras du c6té de la poignée avec condamnation.

ATTENTION : Pour épaisseur > 44 mm, orienter la partie plate du bras (A) du
coté de la poignée sans condamnation.

LL:[T)g gg“ 3535?&’}?& *Breng de slotpin (A) in het slot (B) en draai de platte kant in de richting van de
Sp<44mm { SETEMITSCHLOSS ~ greepuanhetsiol
SIDE WITH LOCK OPGELET: bij deurdikte groter dan 44 mm moet men het viakke gedeelte van
COTE AVEC SERRURE de arm naar de zijde van de greep zonder slot richten.
KANT MET SLOT

*Inserire e fissare il gruppo gancio.

*Insertar y fijar el mecanismo en el mecanizado en el canto de la puerta.
*Einhdngemechanismus einfiigen und befestigen.

*Insert and fix the fitting mechanism.

*Insérer et fixer le bloc d’accrochage.

*Het slot inbrengen en vastschroeven.

*Inserire la maniglia con serratura (C) collegando il braccetto (A) al dispositivo di
chiusura.

*Insertar el bloque de la manilla con cerradura (C) encajando el piston (A) en el
mecanismo de cierre.

*Griff mit Schloss (C) einfiigen und den Haken mit dem SchlieBmechanismus
verbinden.

*Insert the handle with lock (C) and connect the hook (A) to the closing mechanism.

*Insérer la poignée avec condamnation (C) en connectant le bras (A) au dispositif de
fermeture.

*Breng de inwerkgreep met slot (C) aan door de arm te verbinden met het slot.

*Inserire ¢ fissare la maniglia senza serratura (D) dal lato opposto come in figura.

N.B.: Per spessore pannello 35 mm utilizzare le viti trilobate M5x10.

Per spessore pannello 40 mm utilizzare le viti trilobate M5x16.

Per spessore pannello 44 mm utilizzare le viti trilobate M5x20.

Per spessore pannello 50 mm utilizzare le viti trilobate M5x25.

*Insertar el blogue de la manilla sin cerradura (D) en el lado opuesto como muestra la imagen.
Para paneles de hasta 35 mm de espesor, utilizar tornillos trilobulares de M5x10.

Para paneles de hasta 40 mm de espesor, utilizar tomnillos trilobulares de M5x16.

Para paneles de hasta 44 mm de espesor, utilizar tornillos trilobulares de M5x20.

Para paneles de hasta 50 mm de espesor, utilizar tornillos trilobulares de M5x25.

*Den Griff ohne Schloss (D) auf der entgegengesetzen Seite einfiigen und befestigen (siehe Abbildung).

PS.. Fir Tiirblattstérke 35 mm Gewindeschrauben M5x10 benutzen.

Fiir Tiirblattstérke 40 mm Gewindeschrauben M5x16 benutzen.

Fiir Tiirblattstérke 44 mm Gewindeschrauben M5x20 benutzen.

Fiir Tiirblattstérke 50 mm Gewindeschrauben M5x25 benutzen.

*Insert handle without lock (D) on the opposite side as shown in the picture.
N.B. For door leaf thickness 35mm use thread-forming screws M5x10.

For door leaf thickness 40mm use thread-forming screws M5x16.

For door leaf thickness 44mm use thread-forming screws M5x20.

For door leaf thickness 50mm use thread-forming screws M5x25.

*Insérer et fixer la poignée sans fermeture (D) du coté opposé comme indiqué dans le schéma.
N.B : Pour épaisseur panneau 35 mm utiliser les vis trilobite M5x10.

Pour épaisseur panneau 40 mm utiliser les vis trilobite M5x16.

Pour épaisseur panneau 44 mm utiliser les vis trilobite M5x20.

Pour épaisseur panneau 50 mm utiliser les vis trilobite M5x25.

*De inwerkgreep (D) inbrengen aan de andere kant, zie schema.

Voor deurdikte 35 mm gebruik de schroeven trilobite M5x10.

Voor deurdikte 40 mm gebruik de schroeven trilobite M5x16.

Vioor deurdikte 44 mm gebruik de schroeven trilobite M5x20.

Voor deurdikte 50 mm gebruik de schroeven trilobite M5x25.

*Agganciare la maniglia (E) e il nottolino (G). Inserire la mostrina (F) e fissarla
con del silicone.

"Encajar la manilla (E) y el piston (G). Insertar la plagueta (F) y pegarla con
silicona".

*Griff (E) und Sperrklinke (G) anbringen. Abdeckung (F) einfiigen und mit
Silikon befestigen.
*Mount Handle (E) and pawl (G). Insert cover (F) and fix it with silicone.

*Accrocher la poignée (E) et le "tire doigt" (G). Insérer le carter de couverture
(F) et la fixer avec du silicone.

*Plaats de inwerkgreep (E) met pin (G), plaats afdekplaatje en bevestig met
silicone (F).

*Premere la maniglia con serratura per ottenere la fuoriuscita del gancio di chiusura
(premere nuovamente per ottenere il rilascio del gancio).

Per inserire/disinserire la serratura, premere la maniglia al centro fino a fine corsa
(come mostrato in figura).

*Pulsar la manilla del lado con cerradura para que salga el blogue de cierre (pulsando
otra vez el bloque vuelve a entrar en el panel).

Para abrir/cerrar el mecanismo, presionar el pulsador en el centro de la manilla hasta
el fondo (como indicado en la imagen).

*Griff mit Schloss driicken, damit die Sperrfalle herauskommt (nochmals driicken

| zum Freigeben der Sperrfalle).

Um das Schloss einzubauen/auszubauen, den Tirgriff bis zum Anschlag driicken.

*Push handle with lock so that the bolt for closure comes out (push again in order to
release the bolt).
To lock/unlock press the handle to the centre until end run (as shown the picture).

*Appuyer sur la poignée avec la condamnation pour obtenir la sortie du crochet de
fermeture (appuyer une seconde fois pour obtenir le retour du crochet).

Pour enclencher / désenclencher la serrure, appuyer au milieu de la poignée jusqu’au
bout.

*Druk op de inwerkgreep met slot om te vergrendelen (druk een tweede keer om te
ontgrendelen).

Voor sluiten / openen druk de greep naar het midden tot de eind stop (als getoond op
de foto).

*Avvicinare il gancio al montante per una corretta esecuzione dello scasso.
Fissare la mostrina e verificare I'allineamento tra la mostrina del montante e
quella della porta.

*Colocar la puerta en linea con el batiente, de forma que el mismo blogue de
cierre indique el punto donde hay que realizar el mecanizado. Fijar la plaqueta
de encuentro y verificar la alineacién de las chapas del panel y del montante.

*Zur korrekten Durchfihrung der Ausfrasung Sperrfalle an den Anschlag
annéhern. Abdeckung befestigen und sicherstellen, dass die Abdeckung des
Anschlags und der des Tiirblatts im Lot sind.

*For a correct milling put the bolt neat to the post. Fix the covering and make
sure that the covering of the post and that of the door leaf are perfectly
plumbed.

*Rapprocher le crochet au montant pour une correcte exécution du fraisage.
Fixer le carter et vérifier I'alignement entre le carter du montant et celui de la
porte.

*Voor een correcte boring, plaats de pin dichtbij het frame. Plaats het
tegenplaatje en controleer of dit op gelijke hoogte staat.

*Per azionare lo sgancio di sicurezza, inserire una moneta nella fessura
ricavata sulla maniglia senza serratura.

*Para utilizar el desbloqueo de seguridad, insertar una moneda en la ranura
de la manilla sin cerradura.

*Zur Betatigung des Sicherheitsausklinkmechanismus eine Miinze in die
Ritze einfiigen, die aus dem Griff ohne Schloss gewonnen wurde.

*In order to use the releasing safety device, insert a coin into the slot from
obtained on the handle without lock.

*Pour actionner le crochet de sureté, insérer une piece de monnaie dans la
fente réaliser sur la poignée sans sureté.

*Vergrendeling wordt geactiveerd door een muntstuk in de gleuf van de
inwerkgreep te plaatsen.





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles false
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize false
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile (None)
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Average
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages false
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Average
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages false
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Average
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /PDFX1a:2003
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError false
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
    /ITA <>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [595.276 841.890]
>> setpagedevice


